r N

2] A
a

r—X A

= w

ST 6 — 27 £ " p=1
wWaARES IR | 28 GREE)
® ®
2 8
1.2 +—=+ 3 —=+ ( l.4 X 0.4 )
o 5
2
Re 2 | 8 7
=L 2 _8 LM
I\Q5 ° 3 S 5|\Q I\Q5
| 8 2 3 | 4
= + — +
| 5 | 5 5 25
5
__20¢ b8 35
|\53 I ] I\14:'7
__ < - 20
3 7
@ ®
I I 7
2.1 X — —+ (0.7 + 0.9 )
7 5 6
3
I | 7 7 |
10 5 6 | NQ 9
_ 3 2 I S S
1o 10 2 & N |
3

| O 2



3 | 3 | 4 18
4 X + (2 - ) X—
8 5 16 2 q 5
;
| 3 5 8 18
R + = (——~-— S —
8 %, 6 2 18 5
7 3 45 8 18
8 16 18 18 5
a3 _37 18
1 6 1 6 | N 5
17 37
16 5
©®
| 5 5 | 3 12
| — =+ ( - ) (—+3—) X—
q 8
10 20 I5 | 15 12
9 24 24 3 A 7
2 8
4L 45 2
2o 2 (b8 12
A 12 12 7
16 ag R
2 = X
3 R R



